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1. The	quotient	when4c is	divided	by6 is

(i) 2c (ii) 4
3
c (iii) 2

5
c (iv) 2

3
c (v) 0

2. The	quotient	when3r2	 is	divided	by(r+9) is

(i) (6r−27) (ii) (3r−27) (iii) (−27) (iv) (2r−27) (v) (4r−27)

3. The	quotient	when(−2d−3) is	divided	by(d−9) is
(i) (−1) (ii) (−3) (iii) (−2) (iv) (−4) (v) 1

4. The	quotient	when(−i2	 −9i−4) is	divided	by(i+7) is

(i) (−2i−2) (ii) (i−2) (iii) (−2) (iv) (−3i−2) (v) (−i−2)

5. The	quotient	when(−5c2	 −2c) is	divided	by(c+6) is

(i) (−7c+28) (ii) (−2c+28) (iii) (−6c+28) (iv) (−5c+28) (v) (−4c+28)

6. The	quotient	when(4f3	 −9f
2
	 +8) is	divided	by(f+4) is

(i) (3f2	 −25f+100) (ii) (7f2	 −25f+100) (iii) (4f2	 −25f+100) (iv) (5f2	 −25f+100) (v) (2f2	 −25f+100)

7. The	quotient	when(−7n4	 +n
3
	 +2n

2
	 +4n−9) is	divided	by(n+9) is

(i) (−10n3	 +64n
2
	 −574n+5170) (ii) (−7n3	 +64n

2
	 −574n+5170) (iii) (−6n3	 +64n

2
	 −574n+5170)

(iv) (−5n3	 +64n
2
	 −574n+5170) (v) (−8n3	 +64n

2
	 −574n+5170)

8. The	quotient	when(2r5	 −4r
4
	 −6r

3
	 +4r

2
	 +4r+9) is	divided	by(r−1) is

(i) (r4	 −2r
3
	 −8r

2
	 −4r) (ii) (−r4	 −2r

3
	 −8r

2
	 −4r) (iii) (5r4	 −2r

3
	 −8r

2
	 −4r) (iv) (2r4	 −2r

3
	 −8r

2
	 −4r)

(v) (3r4	 −2r
3
	 −8r

2
	 −4r)

9. The	remainder	when3t is	divided	by(−6) is
(i) 3 (ii) 1 (iii) 0 (iv) (−1) (v) (−3)

10. The	remainder	when4t2	 is	divided	by(t−5) is

(i) 101 (ii) 97 (iii) 102 (iv) 99 (v) 100

11. The	remainder	when(−9w+1) is	divided	by(w+9) is
(i) 83 (ii) 81 (iii) 80 (iv) 85 (v) 82



12. The	remainder	when(−5c2	 −8c) is	divided	by(c+1) is

(i) 2 (ii) 4 (iii) 3 (iv) 0 (v) 6

13. The	remainder	when(2r2	 +7r−2) is	divided	by(r+3) is

(i) (−2) (ii) (−4) (iii) (−8) (iv) (−6) (v) (−5)

14. The	remainder	when(4n3	 +n−2) is	divided	by(n−5) is

(i) 504 (ii) 501 (iii) 506 (iv) 503 (v) 502

15. The	remainder	when(3h4	 −9h
3
	 −7h

2
	 −h−8) is	divided	by(h

2
	 −6h−7) is

(i) (472h+468) (ii) (471h+468) (iii) (469h+468) (iv) (470h+468) (v) (467h+468)

16. The	remainder	when(−3v4	 −3v
3
	 +8v

2
	 −4v) is	divided	by(v

2
	 −2v+1) is

(i) (−12v+7) (ii) (−10v+7) (iii) (−6v+7) (iv) (−9v+7) (v) (−8v+7)
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